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Which of the following processes CANNOT be performed by a partner?
 
 
A. CarrierOn-Boarding 
B. EDI Map Testing and Certification 
C. Level One Support 
D. New ‘Organization’ Creation 
 

Answer: D

 

 

What is the most common ERP/Order Management platform that IBM TMS (Transportation
Management System) platform interfaceswith?
 
 
A. Manhattan 
B. AS400 
C. SAP 
D. Oracle 
 

Answer: C

 

 

Which of the following is NOT one of the four core functional quadrants of the TMS
(Transportation Management System) solution?
 
 
A. Optimizer 
B. Execution 
C. Contract Management 
D. Freight Payment 
 

Answer: C
Reference:http://www-01.ibm.com/common/ssi/rep_ca/7/897/ENUS211-257/ENUS211-
257.PDF(page 2 and 3)
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